A = HA
A ES B OWmH &
NO K % FHE PR B X fd
1 Bl 1T 2 B BH
2 ok BK 2 B B
3 = E/E 2 B B
4 HE GF 1 B B
5 INAT BE 1B B
6 ®’ik BE 1 B B
7 A it 1B BH
8 ME &5 1 B B
ALEE L

F—F—RHERDEFEEETEDHLEL
5B, FRISHO0SFFTICTKAZ TR



R4 tlﬁ E% [7i7]
6 B B ZH E#
NO K % ZE = X S
1 BH BEXxE 2 B B
2 —H #EF 2 B B
3 EE B4 2 HE B @
4 =K B 1 B B @
5 218 tWE 1 & B @\
6 SH i 2 B B
7 SR CH 1 B B @
8 WE Tt 1 B B @
ALEE L

F—F—RHERDEFEEETEDHLEL
K24 H., FRISHOONETICHRAZ IR



k4 il o
7 Bs B B8 BN
N | K Z =E OB X
1 R ES 2 IE 5%
2 | ik BB 2 IE 5%
3 | MO ©E 2 IE 5%
4 BA B L 5%
5 | WA ER L 5%
6 HE Z=xE 1 |48 iz
EEG R L 5%
8§ | fEE Fx L 5%
ALEE L

F—F—RHERDEFEEETEDHLEL
K24 H., FRISHOONETICHRAZ IR



R

PR = E
B OB WX &
10 =
NO K % FE P JES X ]
1 NA&x =EE 2 = |58
2 EE B 2 = K
3 KHE TR 2 = |58
4 TH E= 2 = K
5 BEH LtiE 1 = I5s
6 FAE TBE 1 = |5
7
8
ALEE L

F—F—RHERDEFEEETEDHLEL

A
<N

S B, FRISKO0 S FTICHKAZFFITIRH




=23 il 28 B
B B iER BT
11
N | E % & B OB @ XM
GRS 2 HE B 7
2 | KIGBHEF 1 8E B
3 A B 1 8E B
4 EE HT 1 8E B
5 Bt 1 8E B
6 EX BE 1 8E B
7| BARED 1 8E B
8
GlE B TH

F—F—RHERDEFEEETEDHLEL
K24 H., FRISHOONETICHRAZ IR



P iIE] IR £ ]
16 Bs B A #A

N | K Z =E OB X
1 P FE 2 45 B & &

2 | WTFT #3 2 45 B & &

3 | ERERE 2 45 B & &

4 % ER 1 1B & O 7

5 | A0 %I 1 1B & 7

6 SBHEEEY 1 1B & 7

7 EA &% 1 1B & O 7

8§  MA Bx 1 1B & 7

RLECE L

F—F—RHERDEFEEETEDHLEL
K24 H., FRISHOONETICHRAZ IR



R4 *E Iﬂ%}
1 9 BS = KH Eif
NO K % FE P JES X [
1 RE FI&K 2 18 e
2 £ BR & 2 & e
3 mar B 2 18 e
4 #HHE #F 1 13 e
5 B R 1 5 15
6 ER 7§E 1 13 e
] TR = 1 13 e
8 hE ¥E 1 & e
LECETAE

F—F—RHERDEFEEETEDHLEL
K24 H., FRISHOONETICHRAZ IR



Fik4 HE 7
26 5 =B OaH BRE
NO K % ¥HE P /3 X [
1 A EF 2 BE £
i =TS 1 2 & 5
3 hHE Bif 2 & B
4 TARBBEE 1§ 5
5 B Ty 1§ B
6 R EE 1§ B
7 EW HhEE 1§ 5
8 A3 E=E 1§ B
G = U]

F—F—RHERDEFEEETEDHLEL

5B, FRISHO0SFFTICTKAZ TR




FHRA HE L |
27 B B #E IE

NO | K % FH A 3 X fi&l
1 aH /NE 2 B B Jt

2 WwER #E 2 B H 1

3 EH B 2 B H 1

4 B4 WA 1 &8 % it

5 HINERE 1 &8 % it

6 WARTFEF 1 &8 % it

7 WHESVA 1 &8 % it

8

J%Lﬂll
}l:LlB.
Nl
B
i

F—F—RHERDEFEEETEDHLEL
5B, FRISHO0SFFTICTKAZ TR



R4 FH &
29 5 B HFEEX
NO K % FHE P JES X ]
1 wKr BF 1 48 o o
2 AKX A 1 48 o o
3 AR #F 2 %8 o o
4 Xt Ik 1 48 sl
5 RE = 1 48 4
6 faHE FHiE 1 48 4
] =5 H A 1 48 sl
8 FH B 1 48 o o
RLECE{TE

F—F—RHERDEFEEETEDHLEL

K24 H., FRISHOONETICHRAZ IR




e Ir T
7 B B Fl K=

N | E BEC -
1 RNBES | 2 & 7

2 | EAE(E | 2 & 7

3 Hms ®E 2 & 7

4 B/E oM 2 R 7

5 | EFE WE 1 & 7

6 RE HE 1 & 7

7 MA EE 1R 7

8 WA ME 1 & 7

il
L

MG L= U]

F—F—RHERDEFEEETEDHLEL
5B, FRISHO0SFFTICTKAZ TR



s 2 + AP
79 E & JEH KA

N | K £ =g OB | XM
1 Em) B4 e o

2

3

4

5

6

]

8

= Wase ]

F—F—RHERDEFEEETEDHLEL
K4 H., FRIBHKO0ZFTICHAZTICIRE



ZFF— 5 —iRE

] /

R

S 4 E

EX
B

HE FE

101 =

=
o

K 22

s

J&

X ]

B \E

RFREWF

N B

BR 3

ERRZEN

mE ME

=8 EF

O ~N O Gl WwWDN =

PR (5

] KM Rm R

HHEHBHBHHBBEBH

it

e

F—F—RHERDEFEEETEDHLEL

K24 H., FRISHOONETICHRAZ IR




FIRA £

-I 02 B B BHE fME

NO K % FHE P 2 X i
1 =fE EF 2 2 Pz
2 | I BR 2 E 3
3 BE =& 1 2 Pz
4 BAR FIR 1 2 oz
5 HFAR R 1 2 Pz
6

]

8

ALl R

F—F—RHERDEFEEETEDHLEL

A
<N

S B, FRISKO0 S FTICHKAZFFITIRH




ot P s 2
Bs EX A

106 = ==

N K % E PR BE X[

1| A H% e %2

2 | Mt HE e %

3 RE P e %2

4 B IM e %

5 X7 EH 1 5z %2

6  AZFEHE 1 5z %2

7 | WA e 1 5z %

8§ s BE 1 5z %2
= U

F—F—RHERDEFEEETEDHLEL
K24 H., FRISHOONETICHRAZ IR



155 £ B BE R N B A
N | E % 2E BB | XM
| AaEZ ¥= ) BERMNE

2 | kA i ) BERMNE

3 | EE FHM ) BERMNE

4 2O BX | BERMNE

5 | AT X8 ) BERMNE

6

]

8

GlE B T

F—F—RHERDEFEEETEDHLEL

K24 H., FRISHOONETICHRAZ IR




ZFF— 5 —iRE

B 4 ] i)
-I - 2 == NIl FHEA

NO K FE P

1 EHE XF 2 m ®m B

2 B EE 2 m ®m B

3 BH BF 1 @A H

4 =EEAF 1 ' m A B

5 REME L 1 ' m A B

6 M EE 1 ' m A B

7 7x PE 1 A B

8 X FHR 1 A B
G = =]

F—F—RHERDEFEEETEDHLEL
5B, FRISHO0SFFTICTKAZ TR



P ‘A 25 )
BB HE X

123 :

NO K f  FHE BT = X
1 + G F 2 A B =®

2 =B Ip== 1 72 B =K

3 RIS/ RH 1A EBE =K

4 FIE % 2 A EB =K

5 RE T 2 A B =K

6 MH#F EBEF 1 72 E =R

1 Pk =i 1 72 E =W

8 —RBIENF 1 72 E =R

ELa AR

F—F—RHERDEFEEETEDHLEL

A
<N

S B, FRISKO0 S FTICHKAZFFITIRH




R

FRA i =2
195 B B ®E &5

N | E % & B OB @ XM
1 KB % 2 g

2 | EO B 2 g

3 dFbIEE 2 g

4 IME OEE 1 g

5 | XFKN 8 1 g

6 AT MHF 1 g

7 =R EE 1 g

8§ wBE MNE 1 g

GlE B T

F—F—RHERDEFEEETEDHLEL

K24 H., FRISHOONETICHRAZ IR




2IR4 =3 £S5
BS = [FEH &=

133 =
NO | K % FE P JE4 X ]
1 AN 1€ 2 K &

2 LA E/RE 2 K &

3 JIl £ 173 1 K &

4 Wik EMX 1 & &

5 Kt (C= 1 K &

6 JTH IFEHA 1 & =

Ji

8

G = U]

F—F—RHERDEFEEETEDHLEL
5B, FRISHO0SFFTICTKAZ TR



k4 pi:: =
Bs B W Es

134

N | K Z =E OB X
1 =N B . =

2 | BA = . =

3 | #HA EE . =

4 FM@E EW 1 =

5 | A B 1 =

6 | HE wiE e =

7 Wl M 1 =

8§  Fa B3 1 =

ALEE L

F—F—RHERDEFEEETEDHLEL
K24 H., FRISHOONETICHRAZ IR



R4 ,L'% [7i7] "g"
NO K % ZE = X S
1 A EE 2 2 B/ OOF

2 BFAHEK 2 B @/ 7

3 FiE = 2 B @/ F

4 XE BY 1 B2 /OB

5 HHE B 1 B2 w/ OB

6 AR (EE [ i )

7 K =48 [ i )

8

ALEE L

F—F—RHERDEFEEETEDHLEL

A
<N

S B, FRISKO0 S FTICHKAZFFITIRH




R4 M B & E B
Bs B ED B
137 e
N K % E PR BE X[
1 KBEEZHE ) MEHEA
2 | EE % ) MEHEA
3 THE HH | MmEREE
4
5
6
]
8
LECETAE

F—F—RHERDEFEEETEDHLEL
K24 H., FRISHOONETICHRAZ IR



45 £ ‘A BE K h |k B
B = mE X
144 =
N | E & =E HOB | XM
1 MT EE ) BERMNE
) | PE HE | EERAME
3 EBULY | EERAME
4 EEEOH | EERAME
5 | —AIAERE | BERAME
6
]
8
LECETAE

F—F—RHERDEFEEETEDHLEL
5B, FRISHO0SFFTICTKAZ TR



gk & J ] o =)
147 ES = K EA
NO K % ¥HE P /3 X [
1 RIEAHDY 2 Il B/ &% &
2 FHE En 2 )il A & &
3 =a BE 2 Il @ #& &
4 HEY i 2 Il B/ &% &
5 BER = T i =
6 MM BEF T i =
7 Bl W% 1T il @& & B
8 He #Ex 1T il @& & B
G = U]

F—F—RHERDEFEEETEDHLEL
5B, FRISHO0SFFTICTKAZ TR



R4 [7i7] = Jt
5 ® BH =T
148 =
NO K % ¥HE P /3 X [
1 e =25 2 A = it
i Fl L 2 B = i
3 AR R 1 8 B i
4 T HE 1 B = it
5 JEN =i 1 8 B i
6 1Tk &HFE 1 B = it
] T EZ 1 8 B i
8
G = U]

F—F—RHERDEFEEETEDHLEL

A
<N

S B, FRISKO0 S FTICHKAZFFITIRH




E T MmEZRRE/FINAEI
NO K 2 =ZFHE M JE2 X
1 BHFHEMNTH 1 @ & F
2 INGT B 2 F Il & it
3 EH EEA 2 F Nl B it
4 Bl 25 2 F Il B it
5 KE XF 1 & I & i
6 FEH CH 1 & Il & it
]
8
SLEE LA

F—F—RHERDEFEEETEDHLEL
K24 H., FRISHOONETICHRAZ IR



FHRAE S/ 2 /KBS
— s & B WA
&EB
NO K 2 =ZFHE M JE2 X fE
1 2R &K= 2 & [E
2 A BZE 2 2 FH # &
3 A & 1 2 K # &
4 =18 BE{E 1 2 K # &
5 ml EE 2 2 FH # &
6
]
8
SLEE LA

F—F—RHERDEFEEETEDHLEL

K24 H., FRISHOONETICHRAZ IR




